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T 1 _ 1 —
T = 1 W—l——ﬁg—‘iﬂl‘%
W, = .Iii_q = FI,; = Cp {T} = T:‘)
= 1.004(1373.2 — 710.8) = 664.7 kJ/kg
Weee = Wy, — W, = 664.7 — 269.5 = 395.2 ki/kg
e = by = by = C(Ty — 1)
= 1.004(556.8 — 288.2) = 269.5 kl/kg
T o . | o =
hy = 3213.6 kifkg, sy = 6.7690 kJ/kg K
8§y — 8y = 6.7690 = 9,6493 T I_-;?..Sﬂﬂgj Xq4 = D+8159
hy = 1918 + 0.8159(2392.8) — 2144.1 kl/kg
w, = Iy — hy = 3213.6 — 2144.1 = 1069.5 kl/kg
Woe = W, — W, = 1069.5 — 4.0 = 1065.5 kl/kg
gy =y — hy = 32136 — 195.8 == 3017.8 kl/kg
 Whet 1065.5 s ~
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7, e
The equation of state for the specified gas can be expressed as
R1 (&P R
P= — | —| =
v—a \¢T ), wv-a
Thus,
{ P . RT
Nl —| -P=——-P=pP-P=0
bl 1. v—a
L &
Substituting, At —j c, dT
4
{h) A relation for Ah 1s obtained from the general relation
I; Py AN
Ah=hy —h, ~—J' cpdT+[ o1l 2| |ap
i T A \ T Jp
['he equation of state for the specified gas can be expressed as
RT (év] R
v= a0 — | —  =—
¥ o s P
Thus,
J{ o R
u—i"|i—1| =v-T—=v-(v-a)=a
\ (‘T J P JD
Substituting,
T, P,
Al :j c,,dﬁf adP = J' c,dT+a(P, =P,
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